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= 218,400
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2 632,000
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Ostt=22sHdEH X 2,195,000
= 1,790,000
== 405,000
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= 53,000
= 15,900
01 AXHHBILEES 68,900 0 68,900
OJI=X XM A e DS X3 A 68,900
= 53,000
< 15,900
SASANEAH ALY 40,000 40,000 0
= 20,000
< 20,000
307 21201 A 40,000 40,000 0
= 20,000
< 20,000
02 It M AHE L 40,000 40,000 0
O=sAZAEAHALY 40,000
= 20,000
< 20,000
SASHR M E M 883,428 0 883,428
= 679,560
< 203,868
308 XXIEHSOIA 883,428 0 883,428
= 679,560
< 203,868
01 IXNHHBNEES 883,428 0 883,428
OsASHS ™A E ALY 883,428
= 679,560
< 203,868
HE2AIH (sASKFESL)(IIEH/IIEH 107,215 201,352 A 94,137
Jl=Zdl 107,215 131,410 A 24,195
Jl= 34 107,215 131,410 A24,195




Rl
o
0J
=
o
Ok
Ho
<l
Ho
x
=
w
2
J
~
=
o
ok
Ao
<r
Ho
o
o ®o
Ok 80 &
<) 0K RO
K &0 TH
Ho w0~
i & o

< RO T

o o [Te) Ye) o (@) o o
Al Al N~ N~
0w © [<e
A0 © | © L e
ko |9 |° < |4
E|
E=]
o o o o o o o o o o o o o
[¢e} © Yo} L o o o o o o o o o
— — o] o] [de] (<o) [o0) [o6) o o o o o
< | < | o | S | Sloslcslols
[ep] [ep] N~ N~ — — o o o o o
_|_._u0n_. < < < < <
uilEd!
Pdk=
() o o o o (@) o o o Y] Ye) [Ye) o o o o o o o o o o o o
<t <t o o o <t < (] o N~ N~ [ o o o o o o o o o o o o
© o ® d & 4 N & Q|— |- —|[© |8 | |@® Q|3 |3 |S|3|a S
D ()] [ < [ep] 0] [ee] (ap) o o o o (ap] [ep] o o o (e] o o o o o o
[aV) [e\] — — [de) [de] © — — — o o o o o o
< < < < < <
aor
<
=
or
bl
ulo
gl = _
: ) %0
ol <+ %0 W
< ] o) <0
I+ = oll =
. T ok nm o
—~ al & i RO mo <+
= " ab =4 of) 0 S W
o] Mo+ a0 ER m 3
= o Ul B R0 ol m___ ~ Z
oF ok X K0 ®ow|Z o
ol o U ok G+ 7|5 = =
. - |D o0 o < =) ) o < M ar <
= 3 | o ok rE 0 - Rl > U =l
o i) =) K 5l m | W
. ) | ok O O Ol|lzm |= i[3 & ’OOF | S | W <o
= ol | = = | ) O Rr(RE O | R s |< O
r |25 Sl 8 == vl e 8|3
« « « « W |~ ~
: o | D-
L =
A =




> A
A & 0l & AF 2 E A A
20218 = =0l &b L BHeI A A
AR ERNRER SN ABASYD
HY: EYsMARD(SHLLM/5Y - 5E)
ool HEPsYIlBEY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
T =0 506,303, 123 340,777,569 165,525,554
= 68,265,509
s 589,000
J| 392,835,444
< 44,613,170
S sgAMAY D (Lo s - &) 506,209,923 340,682,481 165,527,442
= 68,265,509
s 589,000
J| 392,835,444
< 44,519,970
MEd=sglletxs 6,323,751 3,775,388 2,548,363
= 2,042,417
s 589,000
J| 1,500,000
< 2,192,334
FI s MR 309,810 353,938 AN44,128
= 213,662
< 96,148
308 XX EHH SOl A 309,810 353,938 A44.128
= 213,662
< 96,148
01 HXNHHBHELS 309,810 353,938 AN44.128
OS2I =S XX & A 309,810
= 213,662
< 96,148
St Z ALY 883,500 582,500 301,000
s 589,000
= 294,500
403 X SHHSA=0l& 883,500 582,500 301,000
s 589,000
< 294,500
01 HXSHMA2E X 883,500 582,500 301,000
O sAINREAG (ZESY) 883,500
s 589,000
< 294,500
sgEdEdE=20Y 487,500 195,000 292,500
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308 XXIEHH SOl A 487,500 195,000 292,500
= 375,000
< 112,500
01 AXHHILEES 487,500 195,000 292,500
sHSFEMEZ2 0 487,500
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< 112,500
QMRS ISL=R 0K 1,239,881 349,440 890,441
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AR SEURE=R SN AERSAD
M ASASAAMAR D (LML LM/ 5D - SE)
Sl YR RELAS YN (B9 ®R)
= — — L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
S 2SR 1,591,950 442,328 1,149,622
= 1,000,000
< 591,950
RELSMYIIBTLETA 63,000 105,000 A 42,000
403 A X EHHS =0l A 63,000 105,000 A 42,000
01 X EHHMAZLE L 63,000 105,000 A 42,000
Oss2sdglIgt =8 63,000
2ESHB0tAHE X 35,000 50,000 A 15,000
308 XX EHSOIA 35,000 50,000 A 15,000
113/ 2SoHUHSZAEEALS I 35,000 50,000 A 15,000
O2SM30ANE XA 35,000
LFLAELXA 126,450 212,328 A 85,878
403 MtXSHHE =0l 126,450 212,328 A 85,878
01 X SHMA=2EE 126,450 212,328 A 85,878
DM gdsdX 72,000
OsoESsASHIX A 54,450
SEF0MAHEMAT A 67,500 75,000 AT7,500
307 glz2tol & 67,500 75,000 A7,500
02 It M AHE X 67,500 75,000 AT,500
ORES0MAE AT R 67,500
OEMAZSAAZTEAlZA XK 1,300,000 0 1,300,000
= 1,000,000
= 300,000
308 XXM SOIA 1,300,000 0 1,300,000
= 1,000,000
< 300,000
01 AXHHBIYEES 1,300,000 0 1,300,000
OHEMAZSAAZMAIZEX X 1,300,000
= 1,000,000
< 300,000
DEFASMAASI|IEIEY 56,075,706 66,477,842 A 10,402,136
= 40,766,076
J| 1,485,000
< 13,824,630
EZNEHS= 9,696,940 9,953,740 256,800
= 8,775,636
< 921,304
308 MtXIEHMSOIH 9,696,940 0 9,696,940
= 8,775,636
< 921,304
01 X HHILEXS 9,696,940 0 9,696,940
OEZHEMES 9,696,940




A= SRURS= FN O HEISsS
M ASASAAMAR D (LML LM/ 5D - SE)
Sl DBEIAFMUASIIBEY (B9 ®R)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 8,775,636
= 921,304
FIZHE XA A 24,774,100 25,960,000 A 1,185,900
= 20,995,000
< 3,779,100
308 A EHSOIA 24,774,100 0 24,774,100
= 20,995,000
< 3,779,100
01 HIXNHHNBMNEELS 24,774,100 0 24,774,100
OKRINEH SR AL 24,774,100
=2 20,995,000
< 3,779,100
S ZEHMAALEHSAA 260,000 260,000 0
J| 200,000
< 60,000
403 UtXISHH S A0l & 260,000 260,000 0
J| 200,000
< 60,000
01 XS M A=2EE 260,000 260,000 0
DS ZEHHMALSE USSR 260,000
J| 200,000
< 60,000
SIHAHS A A A X 2,860,000 1,040,000 1,820,000
= 2,200,000
< 660,000
403 XIS SKH=0l& 2,860,000 1,040,000 1,820,000
=2 2,200,000
= 660,000
01 X EHHMA=E L 2,860,000 1,040,000 1,820,000
OsIIHSUAME A 2,860,000
= 2,200,000
< 660,000
FOXL 2T H s HK R 4,550,000 5,460,000 A910,000
= 3,500,000
< 1,050,000
403 XSS =0l & 4,550,000 5,460,000 A910,000
= 3,500,000
< 1,050,000
01 XM A2E X 4,550,000 5,460,000 A910,000
OF&X L2 HSSsITAHXA 4,550,000
= 3,500,000
< 1,050,000
HEZSEsIIHPZL XA 838,500 403,000 435,500
= 645,000
< 193,500
403 XIS E X201 & 838,500 403,000 435,500




AR ERNRER SN AR
M MNSdsgdAMANU(sEAHL b/ sY - &)
Sol: DBIABMAASIIBEY (B9 ®R)
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
= 645,000
< 193,500
01 HIXSHMA2E X 838,500 403,000 435,500
O&astE s AR 838,500
= 645,000
< 193,500
CESIIAHUM ,690,000 780,000 910,000
= ,300,000
< 390,000
403 XIS E X201 & ,690,000 780,000 910,000
= ,300,000
< 390,000
01 AXSHHMA2E = ,690,000 780,000 910,000
O-==sJ1HUH ,690,000
= ,300,000
= 390,000
SV HSHEXNREHXZ 292,900 295,800 A 2,900
= 202,000
< 90,900
403 X SHHSA=0l& 292,900 295,800 A 2,900
= 202,000
< 90,900
01 HIXESHMA2E X 292,900 295,800 A 2,900
OsgllAsstEXIR=XA 292,900
= 202,000
< 90,900
oot S S ZEALXA 72,072 44,616 27,456
= 55,440
< 16,632
403 MHXISHHE X201 H 72,072 44,616 27,456
= 55,440
< 16,632
01 XS M A=2EE 72,072 44,616 27,456
FolOrMsSS ZEAEXA 72,072
= 55,440
< 16,632
AdRETSIIMSLE (R = 55,800 55,800 0
= 45,000
< 10,800
308 MtXIEHMSOIH 55,800 55,800 0
= 45,000
< 10,800
01 HXNHHBHEELS 55,800 55,800 0
JAYNSDEAYMS L (LS - HLE 55,800
= 45,000
< 10,800




SENRE= 2A EtA =g
HEASAAWAR D (LWL 5 - 5&)
DEIAFYMNASIIUEY (SHol: @)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
AMAXUSEZSEH (MY - 2dl) 310,000 620,000 A 310,000
= 250,000
& 60,000
403 XX SHHS K201 & 310,000 620,000 A 310,000
= 250,000
= 60,000
01 XIS AS2E X 310,000 620,000 A 310,000
OJAsMSZSSH (AL - &) 310,000
= 250,000
=} 60,000
SAAIE DB = ALY 1,670,500 468,000 1,202,500
J| 1,285,000
& 385,500
403 XX SHHS K20 & 1,670,500 468,000 1,202,500
J| 1,285,000
& 385,500
01 XIS A2E X 1,670,500 468,000 1,202,500
OSBRSS AIS 1,670,500
J| 1,285,000
o= 385,500
NEMASMAALAED|BIELE 6,805 5,850 955
201 et d9d| 6,805 5,850 955
01 AP 2t 2] H| 6,805 5,850 955
Ogsr=2H| 6,805
ONEZEEAMZIMAMAUTHHHHEAE[AXI2 K0! 6,805
EL0MAMIZBZREINENREZIE 96,234 166,272 A 70,038
403 XX SHHS K20 & 96,234 166,272 A 70,038
01 XIS A=Z2E X 96,234 166,272 A 70,038
OS204AIBREIH RS (FLEO) 96,234
HEIEIHA 849,855 1,244,270 AN 394,415
403 XXM S K201 A 849,855 1,244,270 AN394,415
01 MXSHAHNE2EE X 849,855 1,244,270 AN 394,415
[HEeEI A 583,500
OHELs XA 266,355
METSIEMNIDANE 77,700 160, 230 A 82,530
403 XX SHHS K20| & 77,700 160,230 A 82,530
01 XIS A=2E X 77,700 160, 230 A 82,530
OANZNZSEMIXNA 77,700
B XH B 24 &2 S X| & A 300,000 500,000 A 200,000
403 XX SRS R 20| & 300,000 500,000 A 200,000
01 MXSHHE2BE =X 300,000 500,000 A 200,000




432 sEMNRER SN SRS
M ASASAAMAR D (LML LM/ 5D - SE)
Sel: DEIAFMAASIIUTY (S5 &)
224 ZBS(AN) - HRAY - BES 0l &t o il HImEET
CI B TH BH 24 =3 3 XT3 AHY 300,000
AN A 212,400 283,200 270,800
308 XXM SOl A 212,400 283,200 270,800
01 IXNHHBNEES 212,400 283,200 270,800
OYSAMBSN =L (F2AEA) 212,400
HEERANY 210,000 420,000 210,000
308 XtXIEHH SOl A 210,000 420,000 210,000
01 X HHBLEES 210,000 420,000 210,000
O S2AAY 210,000
HMAsSLHXNE 160,000 139,000 21,000
307 2201 A 61,000 40,000 21,000
02 It M AHE L 14,000 20,000 A 6,000
Oaxsoiz st 14,000
04 QIZFHALAIH B = 47,000 20,000 27,000
O=2UY=HEIHX 7,000
N B=sZUHa XA 40,000
308 XXM SO0l A 99,000 99,000 0
01 IXNHHBNEES 99,000 99,000 0
MANASZTENE=XE 99,000
IENHSSXE 14,000 20,000 A 6,000
307 21201 A 14,000 20,000 A 6,000
02 QB AANHEX 14,000 20,000 A 6,000
D=4 HEEXR 14,000
SAgsgIASS 975,000 3,150,000 A2,175,000
403 A X EHHS =0l A 975,000 3,150,000 A2,175,000
01 X HHMA=LE L 975,000 3,150,000 A 2,175,000
ODsaxdsgllAHE= 900,000
OgAMNSANSUSHSIAHX S 75,000
HAREHMsIOtHE sIIH K& 900,000 1,320,000 A420,000
403 XIS E X201 & 900,000 1,320,000 A 420,000
01 X SHHX2E = 900,000 1,320,000 A420,000
OWASHMHSIOIHHE SO HXN A (FLEA) 900,000
SIHAHAS AL AQE XA 324,000 453,600 A 129,600
308 XtXIEHHSOIA 324,000 453,600 A 129,600
01 HXNHHNBHELS 324,000 453,600 A 129,600
OsJIHYHAIS ACTE XA 324,000
=t EH XA 405,000 405,000 0




432 sEMNRER SN SRS
M ASASAAMAR D (LML LM/ 5D - SE)
Sl DBEIAFMUASIIBEY (B9 ®R)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 405,000 405,000 0
01 X SHMA2E X 405,000 405,000 0
OSsHEEFEIXE 405,000
SZSUHL XL (R)IIXA 32,000 63,000 A 31,000
403 XSS A0l & 32,000 63,000 A 31,000
01 XM A=2EE 32,000 63,000 A 31,000
O=Z=T ol XIZE (2H)IXA 32,000
EsINAMNLHARHEH XA 210,000 210,000 0
308 XtXIEHHSOIA 210,000 210,000 0
01 X HHILEES 210,000 210,000 0
EsHINAMNLAREEHX A 210,000
SIAHL S HE XA 300,000 0 300,000
308 XX EHH SOl A 300,000 0 300,000
01 HXNHHNBHEELS 300,000 0 300,000
SIAHL 3 HE X 300,000
EXNEZH(IIS)IcHH LA 121,000 400,000 A 279,000
403 UHXSHHSA=0l& 121,000 400,000 A 279,000
01 HXSHMA2E X 121,000 400,000 A 279,000
OUXNESZH(ItS) ool At 121,000
Al S AAI ZHE DAL & 10,000 15,000 A5,000
303 Z& 3 10,000 15,000 25,000
01 243 10,000 15,000 A5,000
I AL SEAHAFA 24 DFA| & 10,000
SNUYMATZIHSE (LS - HEE )AL 93,000 0 93,000
= 75,000
= 18,000
308 XX EHH SOl A 93,000 0 93,000
= 75,000
< 18,000
01 HIXNHHNBHELS 93,000 0 93,000
O3;IMYMMATZSMS LR 93,000
= 75,000
< 18,000
SHAUHAXH 168,000 0 168,000
403 Ut SHHSA=0l& 168,000 0 168,000
01 X SHHMA2E X 168,000 0 168,000
OsZAUHAXAAS 168,000
C2ZSsHIAZIIH XA 3,539,900 0 3,539,900
= 2,723,000
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AR sEMNRER SN HEA=D
HY: EYsMARD(SHLLM/5Y - 5E)
Sl SIASOHEER (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SASUAZ IS H AL 22l H 1,680,000 0 1,680,000
J| 1,680,000
308 AHAIEHHSOIA 1,680,000 0 1,680,000
J| 1,680,000
01 HXNHHBHELS 1,680,000 0 1,680,000
OZUSAAI X 2 HALS 22l i 1,680,000
J| 1,680,000
AR R NSRS NN 102,000 114,000 A 12,000
308 XX EHHSOIA 102,000 114,000 A 12,000
01 HIXNHHBNEES 102,000 114,000 A 12,000
ORIN=sSXNSAFH XM 102,000
=2 EXZI=AM 1,880,400 0 1,880,400
J| 1,880,400
308 XXM SOIA 1,880,400 0 1,880,400
J| 1,880,400
01 AXHHILEES 1,880,400 0 1,880,400
OD=gsXddX2H 1,880,400
J| 1,880,400
SASIAHEX =N 365,891,000 0 365,891,000
J| 365,891,000
308 MtXIEHSOIH 365,891,000 0 365,891,000
J| 365,891,000
01 HXNHHNBHELS 365,891,000 0 365,891,000
OsAdsdAE=2H 365,891,000
J| 365,891,000
B=sHASSUXNI MY 425,900 969, 500 A 543,600
EsSHASSUXNIAEFT 5,900 5,000 900
201 €24 5,900 5,000 900
01 At 22l 5,900 5,000 900
O Yet==2H| 5,900
Ot+=shASESUH2AENERAUS 5,900
ZEANUEEHAM 120,000 162,000 A 42,000
307 21201 A 120,000 162,000 A 42,000
04 QIZFHALAIR B & 120,000 162,000 A 42,000
OZSAMLEEZHA 120,000
I=ZERANH 300,000 750,000 A 450,000
403 UHXSHHS =0l 300,000 750,000 A 450,000
01 XM A=E X 300,000 750,000 A 450,000
OsHeEd=2dE D4 300,000
FTACHS ot ==t 2 M S T D ALY 23,298,550 30,687,500 A7,388,950




432 sEMNRER SN HESASYD
M ASASAAMAR D (LML LM/ 5D - SE)
el FTALIS At B B K DAY (B9 ®R)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2

Jl 17,048,000
== 6,250,550

W DESEMAMALES HS ALY 10,100,700 14,790,000 A 4,689,300
Dl 6,966,000
= 3,134,700

403 XXM S K201 A 10,100,700 14,790,000 AN 4,689,300
Dl 6,966,000
= 3,134,700

01 MXHNMAHEBE = 10,100,700 14,790,000 AN 4,689,300
O DEEANLESUHSAY 10,100,700
J| 6,966,000
o= 3,134,700

THAIE 2 M A DI BHE A At 10,740,650 11,756,200 ~ 1,015,550
Dl 9,988,000
& 752,650

403 X SHS X =01H 10,740,650 11,756,200 1,015,550
Dl 9,988,000
& 752,650

01 AIXISHM A 22X 10,740,650 11,756,200 A 1,015,550
ONAMSMACTIIBFELALS 10,740,650
Dl 9,988,000
< 752,650

Ur=Z20FAOIE B S AAY 23,200 20,300 2,900
J| 16,000
o= 7,200

403 MtXIHAHS K20l N 23,200 20,300 2,900
J| 16,000
o= 7,200

01 AXHXMAHEE = 23,200 20,300 2,900
W=Z20ADEEEAALSY 23,200
Dl 16,000
& 7,200

FTAAFS A &l =8 2 22| 5] X & 78,000 147,000 A 69,000
Dl 78,000

202 04d| 10,000 13,000 A 3,000
Dl 10,000

01 2L Y| 5,000 8,000 A 3,000
OFTAD| SAIE S E E A2 =X (4 H 5,000
J| 5,000

04 = Ml st 04 B 5,000 5,000 0
CIFTAD| 2 AH = Ml 3HO B 5,000
Jl 5,000

307 QI2t0| ™ 23,000 60,000 A 37,000
Dl 23,000

02 At AMAIEE =X 23,000 60,000 A 37,000




M ox
40 5 4

ZMRER SN HEBASAD
HASHAMHY D (NS LA/ Y - S&)
TACH S Dh 4 &I 2 B 24 J| D AL & SRk

SN BAGIA) - HRAY - BES 0l &t o il HImEET
CIFTAJI S At 2t el XI & 23,000
J| 23,000
308 XtXIEHH SOl A 45,000 74,000 229,000
J| 45,000
01 XML EES 45,000 74,000 229,000
CIFTAAFS A 2l =& 2 2t 2| ]I X & 45,000
Jl| 45,000
DA HAN D 1,146,000 1,970,000 A 824,000
403 A X EHH S K20l A 1,146,000 1,970,000 824,000
01 X EHHMA=LE L 1,146,000 1,970,000 A 824,000
Oot==M2A S EH X & 445,000
O MM EZLEEMIXR 456,000
CIFTACH S CH Al 2t == S 3t 245,000
MNERAADAIZ A | =01 X & 1,000,000 1,650,000 A 650,000
308 X EHHSOIA 1,000,000 1,650,000 A 650,000
01 HIXNHHNBMNEELES 1,000,000 1,650,000 A 650,000
OXMSAAMBAZEACI =0 XIS 1,000,000
HAMMSSTAG 2l X2 200,000 339,000 A 139,000
308 XX EHSOIA 200,000 339,000 A 139,000
01 HIXNHHBNEES 200,000 339,000 A 139,000
O MSRSAIAAMG 2 XS 200,000
DA LA HEIAL A 10,000 15,000 A5,000
303 Z& 3 10,000 15,000 A5,000
01 243 10,000 15,000 A5,000
Ot A S E A EILAI & 10,000
HASHASSUXN ALY 363,240 589, 756 N226,516
J| 71,200
< 292,040
RSN ESEL 103,240 73,156 30,084
J| 71,200
< 32,040
403 XIS SKH=0l & 103,240 73,156 30,084
J| 71,200
< 32,040
01 X HHMA=ZLE L 103,240 73,156 30,084
OsflJRe==dstEssd 103,240
J| 71,200
< 32,040
St MAAIZ B B AR D KA 180,000 360,000 A 180,000
403 XA S =0l & 180,000 360,000 A 180,000
01 HXSHMA=E X 180,000 360,000 A 180,000




AR ERNRER SN ABASYD
HY: EYsMARD(SHLLM/5Y - 5E)
Sl BHSIHASEUXAAL CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
33| M AA SBR[ DX 180,000
2o EIIIYLZAHESANSESAHA 50,000 63,000 A 13,000
307 2iz2to| A 50,000 63,000 A 13,000
04 DIZ2tSHALALS B X 50,000 63,000 A 13,000
O3 EIILZAHESNES KA 50,000
St & HHE LK 30,000 0 30,000
308 MXISHMSOIA 30,000 0 30,000
01 IXHHIMNEEXTZ 30,000 0 30,000
Ozt & HeHES s XH 30,000
20 S MADBHETY 34,756,558 47,657,196 A 12,900,638
= 19,647,798
J| 1,626,074
= 13,482,686
AMERUAHHXNEBZAELEES XS 1,158,257 1,279,696 N 121,439
= 798,798
o= 359,459
403 XX SHHS K20 & 1,158,257 1,279,696 N 121,439
= 798,798
o 359,459
01 XIS AS2E X 1,158,257 1,279,696 N 121,439
OAER0HXNEZALDES XA 1,158,257
= 798,798
& 359,459
ANE0S S XS 1,078,394 1,112,922 N 34,528
J| 743,720
& 334,674
403 XX SHHS K20 & 1,078,394 1,112,922 N 34,528
J| 743,720
& 334,674
01 XIS A=Z2E X 1,078,394 1,112,922 N 34,528
OAMERoS st X & 1,078,394
Dl 743,720
o= 334,674
FQUHSAEM2SEMARSAMY (M HSAIL) 526,938 489,255 37,683
J| 405,337
= 121,601
403 XX SRS K 20| & 526,938 489,255 37,683
J| 405,337
= 121,601
01 AXESHHR2E X 526,938 489,255 37,683
O sSAMASH2ESEMAPRS ALY (AKX HSA
H)(F2EN) 526,938
J| 405,337
o= 121,601




AR SENRSE SN HBASAD
M MNSdsgdAMANU(sEAHL b/ sY - &)
S RIS A B (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
DEHIOE THEH Al & X & 366,850 916,400 A 549,550
J| 253,000
< 113,850
403 RXISH S K0l & 366,850 916,400 /549,550
J| 253,000
< 113,850
01 HXESHMA=LE L 366,850 916,400 A 549,550
ODFHI OIS THEHAIZ KT & 366,850
J| 253,000
< 113,850
XSS sIIHMSLENR 5,828,000 2,728,000 3,100,000
= 4,700,000
< 1,128,000
403 MtXISHH S0l & 5,828,000 2,728,000 3,100,000
= 4,700,000
< 1,128,000
01 AXSHMA=2E X 5,828,000 2,728,000 3,100,000
gH=2sZIM=sdNA 5,828,000
= 4,700,000
< 1,128,000
NEAUHSANSLHLANLES KA 33,000 367,026 A 334,026
= 30,000
< 3,000
403 A X EHHS =0l A 33,000 367,026 A 334,026
= 30,000
= 3,000
01 X EHHMA=LE L 33,000 367,026 A 334,026
OANE20sSANESYHTALES XA 33,000
= 30,000
< 3,000
NS0 SO0 CTES =B 2 A K | 291,222 243,153 48,069
9] 224,017
< 67,205
403 XIS A S K20l & 291,222 243,153 48,069
J| 224,017
< 67,205
01 HXSHHMA=E X 291,222 243,153 48,069
OANE20 =20t CTESEE AN 291,222
J| 224,017
< 67,205
UNHAQGER 7,500,000 4,978,500 2,521,500
2 5,000,000
< 2,500,000
403 XSS AE201 & 7,500,000 4,978,500 2,521,500
= 5,000,000
< 2,500,000




AR ERNRER SN AR
HY: EYsMARD(SHLLM/5Y - 5E)
CHRl: 20| XS A4 B Y CERED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
01 XIS A2 X 7,500,000 4,978,500 2,521,500
O ANER 7,500,000
= 5,000,000
o= 2,500,000
ANEZFEEBESUL)| =8 MXSNHHAHMD 210,000 210,000 0
= 140,000
& 70,000
308 MXISHHMSOIA 210,000 210,000 0
= 140,000
& 70,000
01 AXHHIMNEXS 210,000 210,000 0
OJANEZAEEESY )| = AMNRAHAMD 210,000
= 140,000
& 70,000
AQAUHEADNEHKNSHSEAIL XA 2,469,500 0 2,469,500
403 XX SHHMS K201 A 2,469,500 0 2,469,500
01 XS A=2E X 2,469,500 0 2,469,500
COJUAUNHSEAEZ XN SHLIBIAI AL XS 2,469,500
CXNANESHAYHAIS (AMMEH2H) 650,000 0 650,000
= 500,000
& 150,000
308 XHXIEHSOIA 650,000 0 650,000
= 500,000
= 150,000
01 AIKSHHEMNEXZ 650,000 0 650,000
(L XNANGESHABAS(AMEHR2A) 650,000
= 500,000
o 150,000
CRNADNESHAHAMA(SHXZTL) 7,742,000 0 7,742,000
= 6,860,000
& 882,000
403 XX SHHS K 20| & 7,742,000 0 7,742,000
= 6,860,000
&< 882,000
01 MXHHE2E =X 7,742,000 0 7,742,000
O XNANGESHABAMY(SHREA) 7,742,000
= 6,860,000
& 882,000
A2SE=EFHNA 3,083,000 5,460,000 N2,377,000
403 XX SHH S X201 A 3,083,000 5,460,000 N2,377,000
01 XS A=2E X 3,083,000 5,460,000 N2,377,000
OfuASE=ssEHNE 2,900,000
O8EHA - LdMEFEEXH 183,000




AR ERNRER SN AR
M MNSdsgdAMANU(sEAHL b/ sY - &)
S RIS A B (&)
2 . - 4 14
MR 2N FB-BA(E) - MRAY - BAS 0l &F 24 e Hl D= 2t
FAMSURSZEMHAE 495,000 495,000 0
308 AHAIEHHSOIA 495,000 495,000 0
01 HXNHHBHELS 495,000 495,000 0
OFAMdE w2 E0MXA 495,000
HASMAGHETAAL (ZIHAFH X ) 1,487,197 1,132,194 355,003
308 XX EHH SOl 1,487,197 1,132,194 355,003
01 HIXNHHNBNEES 1,487,197 1,132,194 355,003
OMAZHAHEI A A 1,487,197
HWASEHFLABEIA & 10,000 15,000 A5,000
303 Z& 3 10,000 15,000 A5,000
01 L& 3 10,000 15,000 A5,000
OMAEXNS LA ML ILAI & 10,000
AGEJWS XIS (AR EY) 1,827,200 0 1,827,200
= 1,619,000
< 208,200
403 A X EHHS 20l A 1,827,200 0 1,827,200
= 1,619,000
< 208,200
01 X EHHMA=ZLE L 1,827,200 0 1,827,200
OACIERMSXIDIBEES (AR08 H) 1,827,200
= 1,619,000
< 208,200
E2HESH 6,394,553 3,731,495 2,663,058
J| 514,726
= 5,879,827
ESES(QA)MAALSHUHS XA 274,791 311,170 A 36,379
J| 189,511
< 85,280
403 XA SA=0l& 274,791 311,170 236,379
J| 189,511
< 85,280
01 HXSHMA2E X 274,791 311,170 A 36,379
OSEAS(LA)MMALSEHEXA 274,791
J| 189,511
= 85,280
SEENZS(HA ISEHS)MMAILSHUSX R 471,562 577,825 A 106,263
J| 325,215
< 146,347
403 MHXISHHE X201 E 471,562 577,825 A 106,263
J| 325,215
< 146,347
01 XM A=2EE 471,562 577,825 A 106,263




432 sEMNRER SN SRS
M ASASAAMAR D (LML LM/ 5D - SE)
o9l SERESY CER-ED
22T S(AA) - HRAY - BYS 0l &t o il HREZ
OSEAS(HA ASHES)YAALEHI XA 471,562
J| 325,215
< 146,347
AEMAFEXH 259,200 405,000 A 145,800
403 A X EHHS K= 0l A 259,200 405,000 A 145,800
01 AXISHH A2 E= 259,200 405,000 A 145,800
ely - MM AsdX 259,200
20212 DI M HI QI At A L | K| & (& BHAFERT) 5,389,000 1,700,000 3,689,000
308 MHXIEHMSOIH 5,389,000 1,700,000 3,689,000
01 HXHHBAEES 5,389,000 1,700,000 3,689,000
12021 DI Al Al Q1 & A A I O x| X| & 5,389,000
RS2 NEENSY 6,003,618 4,005,979 1,997,639
= 4,809,218
< 1,194,400
=222 74,000 69,000 5,000
= 74,000
201 Zer24| 59,000 46,000 13,000
= 59,000
01 Ar22t2l bl 59,000 46,000 13,000
O Yet==ZH| 53,000
OS3H=F0N=MHESLLI==UHITRAUS 53,000
= 53,000
O=gl 6,000
o322 =g A 6,000
= 6,000
202 4Hl 15,000 23,000 A8,000
= 15,000
01 = LH A HI 15,000 23,000 A 8,000
pe2ze 2ol 15,000
= 15,000
2Z e K& 2,898,218 1,756,743 1,141,475
= 2,898,218
308 A EHHSOIA 2,898,218 1,756,743 1,141,475
= 2,898,218
01 IXNHHBHEELS 2,898,218 1,756,743 1,141,475
pe=2ze X 2,898,218
= 2,898,218
RPCAZ M EAIE X & 1,328,400 576,000 752,400
= 1,137,000
=) 191,400
403 A X EHHS =0l A 1,328,400 576,000 752,400
= 1,137,000
=) 191,400




M ox
40 5 4

sEMRER SN HE
VYA VAN D(SLHL /5 - 5&)
e ECE ME-E YT

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
01 XIS A2 X 1,328,400 576,000 752,400
[JRPCAH = M & AIA X & 1,328,400
2 1,137,000
o= 191,400
RPCEI A EIHE = ALS 910,000 585,000 325,000
= 700,000
= 210,000
403 XX SHHS K20 & 910,000 585,000 325,000
2 700,000
= 210,000
01 MXSHHXNE2E =X 910,000 585,000 325,000
CORPCE XA EIHE = AL 910,000
=2 700,000
= 210,000
RPCAl & & H| XI & A S 600,000 700,000 A 100,000
403 XX SHHMS K201 A 600,000 700,000 A 100,000
01 XS A=2E X 600,000 700,000 A 100,000
[JRPCAI & & H| X & AHS 600,000
MAHESHNEZSHHO XA 70,000 100,000 A 30,000
307 2iz2to| & 70,000 100,000 A 30,000
02 QIZHA AAIE E X 70,000 100,000 A 30,000
OXAHESIESHH X 70,000
AEMNLLAEHUHCEESHEOIAHE XS 18,000 18,000 0
308 XNXISHSO0lI& 18,000 18,000 0
01 AIKISHEMNEXZ 18,000 18,000 0
(2SALLSUCELONL XA (FLUEHO) 18,000
AIJIRZ2SHAHARSXE 105,000 150,000 A 45,000
307 QI2t0| & 105,000 150,000 A 45,000
02 QI2tAAMAIE E =X 105,000 150,000 A 45,000
O Z23HAHAPRS A 105,000
HESAAL(MSE=sS W) (IIEHIIE 93,200 95,088 A 1,888
Jl23 | 93,200 95,088 N 1,888
Jl2AH| 93,200 95,088 AN 1,888
201 et | 40,900 53,888 N 12,988
01 AF2 2t 2| bl 39,000 51,888 N 12,888
Ogst=2H| 11,150
OANRESELEE L] 5,150
OALARBENETR YUY 2,000
OgRF=AKOI 4,000
Oosgx¢ 3,000
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>
A & 0l & AF 2 E A A
20218 = =0l &b L BHeI A A
AR SENRSE SN sEEHD
B M ES NS EIN RS (SHHLSM/5Y - 5&)
el DicHEsOHEMSHN L (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SEEEn 177,665,193 164,422,461 13,242,732
= 26,464,500
s 119,284,000
< 31,916,693
QICHIE=EXNsHED RS (s8N L /5 - 5F) 176,770,688 163,492, 181 13,278,507
= 26,464,500
s 119,284,000
< 31,022,188
OlcHE sUHE0tS O 125,234,070 101,823,500 23,410,570
= 2,681,500
s 119,284,000
< 3,268,570
SENESSMUSINE (SEH OIS TLE)(HEAY 2,000,000 200,000 1,800,000
)
403 X SHHS =0l & 2,000,000 200,000 1,800,000
01 HXSHMA2E X 2,000,000 200,000 1,800,000
OsENE=sgMdsId (sEH0SATY) 2,000,000
OlcHE=sHEOIS ML =X 33,640 136,600 A 102,960
201 Let24E] 26,640 126,600 A 99,960
01 At 22l 26,640 126,600 299,960
Opt=2Hl 3,000
OLEsUENL I RAHETRE RS 3,000
28+ 23,640
OsS&AHENLAS S AT LS LZANE X
AT A=Y 23,640
308 MtXIEHSOIH 7,000 10,000 A 3,000
N 3IN2SUHUE3 LS A 7,000 10,000 A 3,000
O=sEHg Y=gl =g as 7,000
SESHNELSH(LXR) 27,018,000 44,936,000 A 17,918,000
s 27,018,000
403 UHXSHHSA=0l& 27,018,000 44,936,000 A 17,918,000
s 27,018,000
01 XM A= XL 27,018,000 44,936,000 A 17,918,000
OsEsdXeds (LX) (IFEAZ) 27,018,000
s 27,018,000
SEZHUNELES(HEZXR) 13,035,000 15,214,000 A 2,179,000
s 13,035,000
403 XSS A0l & 13,035,000 15,214,000 22,179,000
s 13,035,000
01 AXISHH A2 Ex 13,035,000 15,214,000 A 2,179,000
OsEsdXNgdsl(dEXR) (@ EANZ) 13,035,000
s 13,035,000
sSESHNELSH(EEXNR) 2,334,000 1,596,000 738,000




e =0l &E0tS D =
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2

e 2,334,000

403 MtXISHHSA=0l& 2,334,000 1,596,000 738,000
s 2,334,000

01 XM A2E X 2,334,000 1,596,000 738,000
OsEsdXNE48sH(SENR)(IFSAZ) 2,334,000
s 2,334,000

SESHNL3 12,806,000 2,583,000 10,223,000
s 12,806,000

403 UtXISHH S X201 & 12,806,000 2,583,000 10,223,000
as 12,806,000

01 XM A=2EE 12,806,000 2,583,000 10,223,000
SESANELHS(ZSAT) 12,806,000
s 12,806,000

J=deENEsd 42,181,000 24,878,000 17,303,000
s 42,181,000

403 MHXISHE X201 H 42,181,000 24,878,000 17,303,000
s 42,181,000

01 X HHMA=ZLE X 42,181,000 24,878,000 17,303,000
OJIZMENEERH(ZSAZ) 42,181,000
s 42,181,000

SEUSTNJHHX R 600,000 525,000 75,000

308 XIS SO0 A 600,000 525,000 75,000

01 AXNSHHBLAEES 600,000 525,000 75,000
OsE 8 JAHH XA 600,000

ANz &2 st 2,310,000 2,148,000 162,000
as 2,310,000

403 MtXISHHE X201 & 2,310,000 2,148,000 162,000
as 2,310,000

01 XM A=2EE 2,310,000 2,148,000 162,000
OANZEEL3H(IFSAZ) 2,310,000
s 2,310,000

MESBSHAAY 19,600,000 5,880,000 13,720,000
s 19,600,000

403 Ut S E X201 & 19,600,000 5,880,000 13,720,000
s 19,600,000

01 X EHHMA=LE L 19,600,000 5,880,000 13,720,000
OaEHEHAANG (ZSAIZ) 19,600,000
s 19,600,000

FU=sESZ N2 ZLAS 1,855,750 2,086,500 A 230,750
= 1,427,500
= 428,250

403 XSS A=0l& 1,855,750 2,086,500 A 230,750




A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= T.427.500
< 428,250
01 HIXSHMA2E X 1,855,750 2,086,500 A 230,750
JEE=sEEshel =8 Mg 1,855,750
=2 1,427,500
< 428,250
Srx=EUSUSINA 15,680 22,400 A6,720
307 21201 A 15,680 22,400 26,720
02 LB AAFER 15,680 22,400 26,720
Of+=Z0S22SI X2 15,680
Ol ZMELESUCLQ20IS ALY 36,000 72,000 236,000
403 A X EHHSH=0IA 36,000 72,000 236,000
01 X EHHMA=E L 36,000 72,000 A 36,000
OO0 MEESUHO QA0S ALY 36,000
H=EDISCHS I I BIAIEE S 90,000 180,000 A 90,000
403 MtXSHHS =0l & 90,000 180,000 A 90,000
01 HXSHMA2E X 90,000 180,000 A 90,000
OH=0tS S IIBAEES 90,000
SEELSNJUNH2 I X 130,000 130,000 0
= 65,000
< 65,000
307 glz2+ol & 130,000 130,000 0
2 65,000
< 65,000
02 YAFHAANFEE 130,000 130,000 0
OsZ2datNEHEH2E X 130,000
2 65,000
S 65,000
SERSANEESEINR 229,000 0 229,000
= 229,000
403 A X EHHS 20l A 229,000 0 229,000
= 229,000
01 X SHHMA=E L 229,000 0 229,000
ODsERsAMNEEST I 229,000
= 229,000
SEUSESHUHS I X 960,000 0 960,000
= 960,000
308 X EHSOIA 960,000 0 960,000
= 960,000
01 HIXNHHBNEES 960,000 0 960,000
Os=s&Ed8=zHEH2E XN & 960,000
= 960,000




A SA - SAEA) - MRAY - BES 0l &t o il HImEET
HEESEESES 4,850,000 5,050,000 200,000
= 3,600,000
< 1,250,000
St HHI ML (XI) 4,050,000 4,050,000 0
= 3,600,000
< 450,000
403 MHXSHHSA=0l& 4,050,000 4,050,000 0
= 3,600,000
< 450,000
01 X ESHHMA=E L 4,050,000 4,050,000 0
Oste it S (X3) 4,050,000
= 3,600,000
< 450,000
St HHI 40 (XHA) 800,000 1,000,000 A 200,000
403 UtXISHH S =0l & 800,000 1,000,000 A 200,000
01 XM A2EE 800,000 1,000,000 A 200,000
Oet e =002 (XA ) 800,000
JIAsEsoIetet s 32,562,320 37,151,800 A 4,589,480
= 20,183,000
< 12,379,320
SIS (LI 8HEHl) (M S AIY) 3,540,000 5,152,000 A 1,612,000
403 MtXISHHE X201 & 3,540,000 5,152,000 A 1,612,000
01 XS M A=2EE 3,540,000 5,152,000 A 1,612,000
Osgolerdgl (g8 ) 3,540,000
sSIISEH(HFEZXHe)(HEAMY) 5,044,000 1,715,000 3,329,000
403 XIS E X201 H 5,044,000 1,715,000 3,329,000
01 X SHHX2E= 5,044,000 1,715,000 3,329,000
Osgllgtdd(teAdx3eal) 5,044,000
Hi=JH& (2 E) 13,904,000 15,998,000 A 2,094,000
= 13,904,000
402 2I2H X201 M 13,904,000 15,998,000 A 2,094,000
= 13,904,000
02 QI E2AILS EZ (01X TS ) 13,904,000 15,998,000 A 2,094,000
O (RE) 13,904,000
= 13,904,000
B =& (KT &) 6,279,000 8,488,000 A 2,209,000
= 6,279,000
403 MtXISHHE A0l & 6,279,000 8,488,000 A 2,209,000
= 6,279,000
01 XM A=2EE 6,279,000 8,488,000 A 2,209,000
Ot (KI2) 6,279,000
= 6,279,000




AR sENRER 2N sEEED
B 2 CHAES NS EIN RS (SHHLSM/5Y - 5
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SO BHEH (A2 =S ) (M EALY) 3,780,000 5,779,000 A 1,999,000
403 UHXISHHSA=0l& 3,780,000 5,779,000 A 1,999,000
01 XM= E L 3,780,000 5,779,000 A 1,999,000
Ol U (A2 a00A) 3,780,000
JAEtE sI|gtEE =2l 15,320 19,800 A 4,480
203 R =&l 4,320 4,800 A 480
03 AIMF=XH R =AY 4,320 4,800 A 480
Os&Eggexza 4,320
303 &3 11,000 15,000 A 4,000
01 L& = 11,000 15,000 A4,000
OsEHE AL FE A& 11,000
ol CHEl =2l Al & Z HI 14,124,298 19,466,881 A5,342,583
sIIBEH (AMZ2lANENE ) (HEAY) 4,118,000 3,260,000 858,000
403 A X EHHS =0l A 4,118,000 3,260,000 858,000
01 X SHHX2E= 4,118,000 3,260,000 858,000
OsgIlIet (A2l AIEE =) 4,118,000
THoH Ol & .= = 2= 2| Al &€ Z I 3,000,000 4,000,000 A 1,000,000
403 UHXSHHSA=0l& 3,000,000 4,000,000 A 1,000,000
01 XM A=E X 3,000,000 4,000,000 A 1,000,000
OMoiug=SclAl&E I 3,000,000
CE2FIAMEME 500,000 211,200 288,800
403 MtXISHH S =0l & 500,000 211,200 288,800
01 AXISHHA=2E = 500,000 211,200 288,800
O-=2FHANLMA 500,000
SHMMALIEFHE (FRU=H) 4,264,000 5,972,500 A 1,708,500
403 XIS E X201 & 4,264,000 5,972,500 A 1,708,500
01 X SN2 2= 4,264,000 5,972,500 A 1,708,500
OX&AIEHNL25 12l (550) 8 =2 & X 20,000
OZANSHE22=2EE 15,000
OZSAN=I2(HB)s=ZEZZIA 20,000
O3FANTESFIIctsSs=s2 4 15,000
OE3FANESESM s+ 20,000
OFFAH L ES L4 S =2 F b 10,000
OZ Al SettH42 St =2 F 17,000
O3FASLS=2M4els+=2 | 13,000
OZFArds2 el s+=2 | 14,000
O3FAAZLS2E dlcis+=20tRal 25,000
O3FANAIS S SSEW=2F I 20,000
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4= s54RS3 SN ESFHD
MY SANUFAY(SEHSLM/SY - 5E)
ool SAE ALY CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
= 150,000
01 XIS A=Z2E X 650,000 3,613,000 AN 2,963,000
[JADIE=AHICTAIH S X A ALY 650,000
Jl 500,000
o= 150,000
SN FLEHHAY 2,984,000 945,000 2,039,000
403 XX SRS K 20| & 2,984,000 945,000 2,039,000
01 MHXSHHNE2BE = 2,984,000 945,000 2,039,000
O 0HHSMAD|IBtXR S 756,000
OMRstsMEsAIH 2,160,000
OI0ToletE R 22| Al A X & 68,000
EMIOIHCTESSE&AAIY 4,290,000 3,900,000 390,000
J| 3,900,000
o= 390,000
403 XX SHHM S X201 & 4,290,000 3,900,000 390,000
J| 3,900,000
o=} 390,000
01 XIS AS2E X 4,290,000 3,900,000 390,000
OFAZ0HICTSEE = AAY 4,290,000
J| 3,900,000
& 390,000
EMNHIAIY 9,186,590 10,971,566 N 1,784,976
= 7,700
J| 4,127,596
== 5,051,294
SN AIA 4,837,076 4,597,183 239,893
J| 4,030,896
& 806, 180
308 XX G SO A 4,837,076 4,597,183 239,893
J| 4,030,896
= 806, 180
01 AIKSHHEAMNEX= 4,837,076 4,597,183 239,893
OstneRIAN 4,837,076
J| 4,030,896
= 806, 180
HRANBHsEZEHAL 32,500 19,500 13,000
J| 25,000
& 7,500
308 XXIGHHM SO0l & 32,500 19,500 13,000
J| 25,000
& 7,500
01 HXHHIMNEXS 32,500 19,500 13,000
Os=s=Es)E23 32,500
J| 25,000
& 7,500
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ESESHEAY 62,270 33,150 29,120
J| 47,900
< 14,370
308 AHAIEHHSOIA 62,270 33,150 29,120
J| 47,900
< 14,370
01 HIXNHHNBHELS 62,270 33,150 29,120
OESEsdAY 62,270
J| 47,900
< 14,370
SANESXE 7,700 2,000 5,700
= 7,700
308 XXM SO0 A 7,700 2,000 5,700
= 7,700
01 IXNHHBNEES 7,700 2,000 5,700
OEASSX & 7,700
= 7,700
SHRC M ALK & 10,000 116,000 A 106,000
307 21201 A 10,000 20,000 A 10,000
04 QIZFHALAIH B = 10,000 20,000 210,000
D=Ll L ALK& 10,000
ZABILEHER R 724,500 1,373,000 A 648,500
307 21201 A 324,000 572,000 248,000
02 It M AHE L 324,000 572,000 A 248,000
st Egd35t 24,000
Oetel1S=ssotdd=2X&E 300,000
403 A X EHHSXH=0l A 400,500 801,000 A400,500
01 MRS b 2 & 400,500 801,000 400,500
O=&MsIHES BN EH XA 400,500
St IS ALY 842,840 947,500 A 104,660
308 A EHHSOIA 842,840 947,500 A 104,660
01 HIXNHMBHNEELS 842,840 947,500 A 104,660
OZSsAdLrsBNBAY 483,200
et ARIMESAA 300,000
Ot 0l A A 59,640
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308 XX EHH SOl 103,278 152,000 AA48,722
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A SEURER SN EAZHD
MY SANUFAY(SEHSLM/SY - 5E)
SRl SMFYAY CERED
= _ - 4 &
FRA BB GASA) - MRAY - BES e HI D52
403 TR SHHSA=01H 149,700 450,000 A300,300
01 HXSHH =R 149,700 450,000 /300,300
O sII X H A& 149,700
=X A 270,000 367,000 A97,000
308 XXM SO0I& 270,000 367,000 A 97,000
01 XM BaE2ES 270,000 367,000 A97,000
Osg2=daAY 270,000
A X2 AL 198,426 400,000 A~201,574
308 XXM SO0IH 198,426 400,000 A~201,574
01 X SHHBLEES 198,426 400,000 A201,574
oAz dst 198,426
=X AN 873,920 900,000 126,080
308 Xt &M S 01 A 843,920 900,000 256,080
01 XM ZEEES 843,920 900,000 256,080
ODgsadgds 843,920
403 TR M SA=01H 30,000 0 30,000
01 RIXISH A2 X 30,000 0 30,000
BEEE I 30,000
SMSHAH 707,440 ,497,183 AT89,743
308 XXM SO0l ™ 210,790 388,840 A 178,050
01 UAXESHHBLEES 210,790 388,840 A 178,050
OSSR (B &) 65,610
OF A et SO0HAIEHY X 2 A 15,000
= PNRLE= S~ RPN 90,180
O=Aa oS A s & 40,000
403 TR M SA=01H 496,650 1,108,343 611,693
01 HXSHH =R 496,650 1,108,343 A611,693
OF&sIHIIRMAE () 66,000
Oet*AMEXs=2010] 255,000
OF==F 0ol X X & 175,650
L HEIXIZHI X &AL 30,940 0 30,940
Jl 23,800
= 7,140
308 XXM SO0I& 30,940 0 30,940
Jl 23,800
= 7,140
01 UAXESHHBHEXZ 30,940 0 30,940
OZEE X ZHIX A A 30,940
Il 23,800
S 7,140




A SEURER SN EAZHD
MY SANUFAY(SEHSLM/SY - 5E)
SRl SMFYAY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SEXNSE LML (HEAY) 336,000 0 336,000
403 UHXISHHSA=0l& 336,000 0 336,000
01 XM= E L 336,000 0 336,000
OF&S(EB)MESR 336,000
TSt = AALY 11,418,954 14,949, 386 A 3,530,432
J| 7,038,865
=) 4,380,089
IMNSHASAIL XM XS 3,036,000 3,680,000 A 644,000
J| 1,897,500
=) 1,138,500
308 XX EHH SOl 3,036,000 3,680,000 A 644,000
J| 1,897,500
=) 1,138,500
01 HIXNHHNBMNEES 3,036,000 3,680,000 A 644,000
OXZAMNSMAS At e XM £ X2 3,036,000
J| 1,897,500
< 1,138,500
TASHMESI AL 1,163,120 1,256,000 292,880
J| 830,800
< 332,320
308 XtXIEHHSOIA 1,163,120 1,256,000 292,880
J| 830,800
= 332,320
01 X HHILEES 1,163,120 1,256,000 292,880
OXMSHEMSSHALXA 1,163,120
Jl| 830,800
=) 332,320
TAESE 2 XE 104,000 169,000 A 65,000
J| 80,000
< 24,000
308 A EHHSOIA 104,000 169,000 A 65,000
J| 80,000
< 24,000
01 HXNHHNBHEELS 104,000 169,000 A 65,000
OxZMESEZe XA 104,000
J| 80,000
< 24,000
BN =L S AL XN MEX 1,178,000 1,147,000 31,000
J| 950,000
< 228,000
308 XXM SO0 A 1,178,000 1,147,000 31,000
J| 950,000
< 228,000
01 IXNHHBNEES 1,178,000 1,147,000 31,000




M ox
40 5 4

SEURES TAH O EAE
EMADTANL (SRHL /59 - 5&)
IS ALY

= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t

Od2HNETLdS ALl X MEX A 1,178,000
J| 950,000
< 228,000

A= PNEESE= RPN g D] 76,700 87,000 A 10,300
J| 65,000
= 11,700

308 XXM SOIA 76,700 87,000 A 10,300
J| 65,000
< 11,700

01 IXNHHBANEES 76,700 87,000 A 10,300
Od2HNZLdESUHALXE 76,700
J| 65,000
< 11,700

HEHX XS EE % X 210,080 234,320 124,240
2l 161,600
< 48,480

308 XX EHHSOIA 210,080 234,320 A 24,240
J| 161,600
< 48,480

01 AXSGHBLELS 210,080 234,320 A 24,240
OSSN ELEZSEHH XA 210,080
J| 161,600
< 48,480

ZAZHAZAGSMIIHEH XA 304,500 570,000 A 265,500
J| 210,000
= 94,500

403 MtXISHH S =0l & 304,500 570,000 A 265,500
Il 210,000
S 94,500

01 AXSHMA2E X 304,500 570,000 A 265,500
OXZANZHMSIIMIIAHZH XS 304,500
J| 210,000
< 94,500

&l M H| & EH| 1,497,249 ,847,596 A 350,347
J| 1,151,730
< 345,519

308 XHXI &M S0 & 1,497,249 847,59 350,347
J| 1,151,730
< 345,519

01 AXNHHBANEES 1,497,249 ,847,596 A 350,347
D&Y & ZH X & 1,497,249
Jl| 1,151,730
< 345,519

AHEHICTII H FHI 471,900 156,800 315,100
J| 363,000
< 108,900




SENRER SN BMEHY
ENUUTAY (SN L2/ Y - 5E)
MBS A (S5 &)

% o 4 14
S.2h B (BH) - HEAY - B 0fl Ak o8 %Eﬁ HDS2
403 MR HHS K201 471,900 156,800 315,100
Dl 363,000
T 108,900
01 XX SHMAA2E X 471,900 156,800 315,100
OAF=HICTIIH &H X & 471,900
Jl 363,000
= 108,900
A FONA 1,442,005 1,673,100 A 231,095
Jl 1,109,235
& 332,770
403 ItXISH XS K201 1,442,005 1,673,100 A 231,095
Jl 1,109,235
& 332,770
01 AIXISHMA2E X 1,442,005 1,673,100 A 231,095
O FORA X & 1,442,005
Dl 1,109,235
= 332,770
At & X & 762,500 762,500 0
308 XX S M SO0l & 762,500 762,500 0
01 "X HHMBANEXZ 762,500 762,500 0
JHALZI2AISEILM AR 643,500
OS2 Z2TMRAI& ALY 119,000
AN AKX JAS 253,000 565,000 A 312,000
307 QI2t0l M 49,000 70,000 A 21,000
02 DI2HEAAIEE X 49,000 70,000 A 21,000
OXA M= Z 49,000
308 AHXI S M SO0l & 78,000 195,000 A 117,000
ANXNSHMBAEEZ 78,000 195,000 A 117,000
OZAMNZEESHIEH 30,000
OBl s tAtE & = X & 48,000
403 X SHHMS K201 126,000 300,000 A 174,000
01 X SHHMA=2E X 126,000 300,000 A 174,000
OXAMZEAZH X 126,000
WHBS MY 645,900 791,270 145,370
308 AXISHXSO0IH 182,100 274,970 N92,870
01 AXHNBMNEXTZ 182,100 274,970 N92,870
OB AESH A 44,100
OzSFAFH2H X & 138,000
403 X SHMS K201 463,800 516,300 A52,500
T XS A2E X 463,800 516,300 A52,500
ONSE MY M AAIE X 300,000




M ox
40 5 4

A
0
J2
[

SENRER
ENALFAY (SYH L/
HEBAS LAY

- _ _ RE]
SRA-EY () - MEAY - B Ol At o ﬁ}lgﬁ HRE2

OEAMNAdFHUANEXNH 163,800

2SN S0tSE E I AR S 196,000 0 196,000
J| 160,000
= 36,000

403 XX SHHS K20 & 196,000 0 196,000
J| 160,000
& 36,000

01 XIS A=2E X 196,000 0 196,000
O3shH2S0tSE e NS 196,000
J| 160,000
o= 36,000

HNEXNEZLEI|HEH XA 78,000 0 78,000
J| 60,000
o 18,000

403 XX SHHMS K201 A 78,000 0 78,000
J| 60,000
o= 18,000

01 XS A2E X 78,000 0 78,000
OSSN 2L HEBH 2L A 78,000
J| 60,000
& 18,000

S AAAAALA 5,167,439 4,509,508 657,931
J| 2,728,954
= 2,438,485

StM=0HAME 1,564,707 1,468,488 96,219
J| 1,125,314
= 439,393

308 XX EH SO A 1,564,707 1,468,488 96,219
J| 1,125,314
= 439,393

01 AIKSHHEMNEX= 1,564,707 1,468,488 96,219
ISt =0M E ALY 1,564,707
J| 1,125,314
= 439,393

SAESOHEHU2AX S 169,000 130,000 39,000
J| 130,000
= 39,000

308 XAHXIGHHM SO0l & 169,000 130,000 39,000
J| 130,000
& 39,000

01 HXHHIMNEXS 169,000 130,000 39,000
JsAds0ida4y 169,000
J| 130,000
== 39,000

NXHMES0U S & A3t 201,500 266,500 A 65,000




A2 sEA4RER SHEAEY
HE: SMALHANL(SYHS LM /5 - &)
Sl E A MY ALY cHol @)
- _ _ RE]
SEN BB (EH) - NEAY - BAS %Eﬁ HR=2
Pl 155,000
& 46,500
308 XHXIEH SO0l A 201,500 266, A 65,000
J| 155,000
&< 46,500
01 AIKSHHEMNEX= 201,500 266, A 65,000
OXAHES0IHa EASeAIY 201,500
J| 155,000
& 46,500
YAAXEZ ol AL D2 510,692 195, 315,692
J| 392,840
=} 117,852
403 XX SRS K20 & 510,692 195, 315,692
J| 392,840
& 117,852
01 AXESHHI=2E X 510,692 195, 315,692
(A SOIAAMN I ZAS 510,692
J| 392,840
== 117,852
UAAEAXZLALS 780,000 835, A 55,900
J| 600,000
o= 180,000
403 XX SHS K20 & 780,000 835, A 55,900
Jl 600,000
o= 180,000
01 AIXISHHM RS2 X 780,000 835, A 55,900
UMAERX S ALY 780,000
J| 600,000
& 180,000
sEHZS0IE LG 160,940 84, 76,440
J| 123,800
& 37,140
308 XHXIGH SO0l & 160,940 84, 76,440
J| 123,800
& 37,140
01 AIKSHHENEXZ 160,940 84, 76,440
J=s=2Z2S024H3AH 160,940
Jl 123,800
= 37,140
S EEE 28,600 29, A520
J| 22,000
o= 6,600
308 MXISHMSOIA 28,600 29, A 520
J| 22,000
=} 6,600
01 AIXSHMENEXZ 28,600 29, A 520
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AR SEURE=R SN S2YAD
Hz: JIEZYHIENS(sHMNL2( /s - =5)
ol BB BALY CERED
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
OS2 X ALZ 2t el XF & Xt 10,800
02 332494l 4,940 5,200 A 260
OAIE &H| R Xl HI| 940
OMESXNAIZE 2 X &S X 22| 940
O XteF & By 4,000
O ANAIZE 2 &R = 4,000
203 ¥R =&Y 4,320 4,800 N 480
03 A F=X SR =XIH| 4,320 4,800 N 480
OgAgR2FA 4,320
206 M = Hl 126,000 180,000 A54,000
01 X Z Hl 126,000 180,000 A54,000
O2lag <] 126,000
307 QI2t0| & 14,000 20,000 A 6,000
04 QIZ2tSHAFAFS B X 14,000 20,000 A 6,000
[J4=2| AHCH &) & AFX| & 14,000
308 XX SHAMSO0IA 975,390 1,015,860 N40,470
01 AIXHMBAEXZ 975,390 1,015,860 N40,470
OFMESSE A 165,300
OdgESAIs=HI XS (XHA) 300,000
OFRHIHAMNEESAEY AASH XS 148,500
O34 X& 318,960
OFHIHANESRJAH NS T AKX 42,630
403 AIXSHMES K201 N 30,000 90,000 A 60,000
01 XIS AE2E X 30,000 90,000 A 60,000
OSSR THE 2AIEE X AS 30,000
SAAREE EH Ot 10,000 15,000 A5,000
303 A2 10,000 15,000 25,000
01 ZAaZ 10,000 15,000 A5,000
OSALdREESEHILAIA 10,000
FHEHSESXA 9,450,407 7,967,718 1,482,689
2 8,100,967
& 1,349,440
308 AXISHMSOIHA 9,450,407 7,967,718 1,482,689
= 8,100,967
& 1,349,440
01 HXHHNIMNEXTS 9,450,407 7,967,718 1,482,689
OF A S e AAAH X & 7,359,354
=2 6,492,470
= 866,884
OFME oA ESA = 2,091,053
= 1,608,497




AR SEURESR SN S22
HE: ISNYHISH(SYHS LM /5 - &)
Sl WS AY CERED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
< 482,556
2 el Ak 6,938,176 5,877,010 1,061,166
2 3,707,700
J| 867,000
< 2,363,476
FHsH Y 656,000 656,000 0
= 328,000
< 328,000
206 M= Hl 656,000 656,000 0
2 328,000
< 328,000
01 =8l 656,000 656,000 0
Serdsdoga 656,000
= 328,000
< 328,000
SAIEEE 2T ALY 101,400 97,500 3,900
= 78,000
= 23,400
308 XX EHH SOl 101,400 97,500 3,900
= 78,000
< 23,400
01 IXNHHBNEES 101,400 97,500 3,900
OHXAZHE S A 101,400
= 78,000
< 23,400
AXNSUALHAAZH SKA 1,441,700 1,331,200 110,500
= 1,109,000
= 332,700
403 XIS E X201 & 1,441,700 1,331,200 110,500
= 1,109,000
< 332,700
01 X SHHA2E= 1,441,700 1,331,200 110,500
OgIS U XA 318,500
2 245,000
< 73,500
OHNBMEASAIE 1,123,200
= 864,000
= 259,200
SUTHEEN 576,810 576,810 0
= 443,700
< 133,110
308 XXIEHH SOl A 576,810 576,810 0
= 443,700
< 133,110
01 XML EES 576,810 576,810 0
OO SEM 424,710




AR SENRSE SN SEYAD
HE: ISNYHISH(SYHS LM /5 - &)
Sl welEelAY (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 326,700
& 98,010
CIGPSHLUIAMAI MBS HH RS 152,100
= 117,000
=} 35,100
t2sJtag e & 553,800 460,200 93,600
= 426,000
& 127,800
308 XAHXIGHH SO0l & 553,800 460,200 93,600
= 426,000
& 127,800
01 HXHHIMNEXZ 553,800 460,200 93,600
OJI2sJtag 2| X 319,800
=2 246,000
& 73,800
OSHXEI SSHMA S A 234,000
= 180,000
& 54,000
BtAQIZ I R EX| 2 1,127,100 483,600 643,500
J| 867,000
& 260,100
403 XX SHHS K20 & 1,127,100 483,600 643,500
J| 867,000
= 260, 100
01 XIS A=Z2E X 1,127,100 483,600 643,500
CJCCTVS Y IOl I X A A 1,127,100
J| 867,000
o 260,100
SAIENISEIYEH 269,526 549,000 N2T79,474
308 MXISHMSOIA 269,526 549,000 N279,474
01 IXHHIMNEEXTZ 269,526 549,000 N279,474
OFAJEIS0 g 24X & 269,526
ASAIE X2 275,940 422,700 A 146,760
308 AXIEHSOIA 189,000 240,000 A51,000
01 AIXSHMENMNEX= 189,000 240,000 51,000
OHEASAESIH XS 189,000
403 XX SHHS K20 & 86,940 182,700 N 95,760
01 XIS AZ2E X 86,940 182,700 AN 95,760
OASAIE X3 ALS 86,940
SEHNEZASILASHSAE 1,719,900 1,300,000 419,900
= 1,323,000
= 396,900
308 MXISHMSOIA 1,719,900 1,300,000 419,900
= 1,323,000




SENRER
NELHEHS (AW LS/
ot o1 22| ALY

= SHE|
2. 2A B GR(E) - KR 0l &t o8 il HlnE2
< 396,900
01 IXNHHBNEES 1,719,900 1,300,000 419,900
OSHN=A2ELASHIEX 1,719,900
= 1,323,000
< 396,900
UAESIHSEIIEX X J ALY 216,000 0 216,000
403 XIS E X201 & 216,000 0 216,000
01 AXSHMA=2EER 216,000 0 216,000
OIS EEI A X A& AL 216,000
SMS A ALY 4,527,856 3,608,406 919,450
= 182,000
J| 1,889,782
< 2,456,074
EEZARQAUALI KR 1,602,000 1,584,900 17,100
J| 961,200
< 640,800
307 21201 A 1,602,000 1,584,900 17,100
J| 961,200
< 640,800
02 IZtE S AIHE L 1,602,000 1,584,900 17,100
OSE=ZAMA2S XA 1,602,000
| 961,200
< 640,800
SNBSS M2 XA (HEZHEY]) 1,019,957 933,451 86,506
| 784,582
< 235,375
308 XXM SO0IA 1,019,957 933,451 86,506
| 784,582
< 235,375
01 IXNSHHBNEES 1,019,957 933,451 86,506
OFMS0 M (HEREY]) 1,019,957
J| 784,582
< 235,375
= A SHACCPA A E 176,400 191,100 A 14,700
| 144,000
< 32,400
308 XtXIEHH SOl A 176,400 191,100 A 14,700
| 144,000
< 32,400
01 AXNHHNBAMNEES 176,400 191,100 A 14,700
OSASHACCPHEE (s &) 176,400
| 144,000
< 32,400
2,600 2,600 0




AR SENRSE SN SEYAD
HaM: JI=MHIZHG (s M/sY - =)
el SMSSIMAY CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 2,000
& 600
308 XHXIEH SO0l A 2,600 2,600 0
= 2,000
&< 600
01 AIKSHHEMNEX= 2,600 2,600 0
OSSN MAANISE LS 2,600
= 2,000
& 600
SMNERESE LT 348,390 531,540 A 183,150
308 NXICSHMSOIA 187,470 185,040 2,430
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-72 (108 82) 2,746,500 x11&H «12& 362,538

-83 (108 2) 2,465, 7003 x1H x12& 29,589

-HRA(1028) 2,930,700& x1H x12& 35,169
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-ItEY 22,800
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- MHESHHI B XS 5,633
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-S40 (A EHREALYH) 58,200
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PRl 12,0022 *10Al 2tx18H x12& 25,925
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OxUZ LS (YA 86,634
S EEE Pa=
12,0028 +3652 *BA| 2t 4 3%+4 60,279
-oi2e sy
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02 JIEt& B % 124,042 114,525 9,517
O89S+ At 124,042
Oxm2REHgES 23,896
SAZE2RY 23,896
PARSLE 9,482 *10Al 2tx6H 122 6,828
=2 9,482 *25A| 2t x6H 128 17,068
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S ELES=
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-ortaRay
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O=Wol 17,100
Ol =t 1,800
On=xtl 900
03 RIAHAEZZRE 247,900 244,547 3,353
OFMZBCALINSUASASZAIAIEEELRA 247,900
(OPIF=S= 1,935,840 6 x12& 139,381
oan=2 1,935, 840& x200%*6H 23,231




]

20
oF
T

Ho

= A

MNEXI ) (I1EH D

<

0

=<

%0

oF

O

o
o
o 8o =
Ok B0 30
<) 0H ob
K &R0 &r
Ho %0 3l

M & oF
< RO T

<

n0

Kio

Hl w

3,420

3,420

NG, 741
NG, 741

NT,066
A2,994

AN4,072

H3r
Wikd
RIS

42,720
42,720

156,020
156,020

128,050
46,930

81,120

Off &t 24

11,260
13,872
4,800
2,880
480
1,440
3,756
4,320
9,000
10,080
1,800
2,400
24,000
46,140

46,140

6,000
19,800
18,600

1,740
149,279
149,279

120,984
43,936
9,300
5,000

500
1,800
2,000

15,500
15,500
15,360
15,360

3,776
3,776

77,048
32,048
31,400

OEI
128
5
5

A 123
=R

& %20
I« 6H #1223

I« 6B« 123

1« 6H « 123

6+ 123

[und
e

2 %62 %2

2| %2 0H %

2| %6

2| %D

e

B x2

e

o
[ud
o
[und
o
[uad
o
[und
o
[ud
o
[ud
o
[ud

93,830
11.3333& %17,000
40,000
20,000
60,000
469,400
60,000
750,000
140,000

=
JUDNTE!
L UPE
Jtel

OXtH

|

x

OI&
O=U0l
O4UES

204 A

Ki
H
fn

Rr

<
Dl
s
oK
no 1o o

© M~

0o oo

80
0K
J
oll

01 AtR 22l |

ol

b0
0
ok
b
00

OM=R

ol
ulo
x
H
g

<

Ld
<+
]

<
o+

RO
0

1T
<k
<k
wr

Ok

R0

oJ

ok

n
FA

ol

-

KO
oF

RO
o0

30
0H
)
Ho

lo
N
00

xJ
o}
i
<J
o

ok

K]

648
4,000
4,000

21,000

| (GPS)

LAl & & Hl = Xl




&)
oF
aJ
<
=
Ik
X
<
0
=
20
oF =
T
Wo 2
)
=3}
"3
=
IF
X
4
0
=
20
oF
Ol
1H0
Mo
o Ro
k30 B
<) 0K RO
i %0 M
B~

M & oF
< RO T

<

n0

Kio

Hl w

., 105
., 105

1
1

170

160

10

H3r
Wikd
RIS

14,000
14,000

5,920

1,120

4,800

1,800
1,800

Off &t 24

14,000
4,000
3,000

20,000

20,000

15,105
15,105
15,105

6,090

1,280
1,280
4,810
4,800

10

1,800
1,800
1,800

2l i

OALRI171

-

ol
Xl

w0
=

ulo

01 SLHOYI

202 044l

KJ
Kt

ol

J
Kt
ok
ol

Kl
K
oF
ol

-

02 H&ot

ot

o)

[130& 0l

0

<+
o+

204 =

R0
0
<+
o+
ol
i
®[
Rr

A 950
A 950

6,250
6,250

5,300
5,300
4,000
1,000

300

OXaxz
O2UE (4TH)

CIPC(4CH)




